Calculus BC – Chapter 9 - Even Answers (F.T.D.W.)

Section 9.8
2. 
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 |error| < 3 x 10-22
4. With a = 1, 
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 |error| < 5 x 10-4
6. With a = 1, Tan-1x = 
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 with |error| = .988
8. 
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 but if m is a positive integer, then the series ends at xm. That is, for k > m, we let 
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= 0, since k = m+1 or m+2 or...  Hence the binomial theorem (expansion).
Problems #10,12,14

Set y1 =
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Set y2 = 
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 and graph y3 = y1 – y2 and determine when the difference is less than .01

10. –1 < x < 1.27
Use the store button by entering 
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 Also use 
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12. –.35 < x < .41
Use the store button by entering 
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 Also use 
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14. –.33 < x < .33
Use the store button by entering 
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 Also use 
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16. By the Alternating Series Theorem, |x| < .848

18. 
[image: image16.wmf]23

22!33!

...

xx

x

××

-+-


20. 
[image: image17.wmf]357

352!73!

...

xxx

x

××

-+-+

 
[image: image18.wmf].1

10

0

().099667664

Pxdx

=

ò


22. 
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 where 
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 .100000999986  vs  fnInt = .100001
24. 
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Practice Exercises

2. –1

4. 1

6. e5 

8. 0

10. 0

12. ½ 

14.  –.980

16. -3/5                   

Calculus BC – Chapter 9 - Even Answers (F.T.D.W.)

Practice Exercises (continued)

18. e – 1

20. diverges

22. converges

24. converges

26. conditional convergence
28. diverges

30. converges

32. (a) 
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  (b) –1 < x < 1

34. Converges (a) and absolutely (b) for   –1 < x  < 3

36. (a) for all x   (b) for all x

38. ln (1+x) at x = 2/3 with value ln(5/3)

40. cos(x) at x = 
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 and cos(
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42. Tan-1x at x = 
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44. 
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 P4 = 
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Graph ABS(f(x) – P4) and y = .01, to find:  1.710 < x < 2.340
46. 
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48. 
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50. Iterations x = 
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 and x = Sin-1x3 diverge, but taking x = 
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 converges at x = .9286
Other solutions are x = 0 and x = -.9286
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